Arithmetic – Please do all your working out in you book. 
1) 202- 10 = 
2) 459 + 600 = 
3) 
4) _____ = 4477 - 929
5) 210 ÷ 7 =
6) 2.01 – 0.7  =
7) 4000 + 379 = 
8) 3   x 3 =
9) 42 + 32 =
10) 120 x 11 =
11) 8271 ÷ 9 =
12) 4 x 2 + 6 =
13) 92 x 71 =
14) 3432 ÷ 22 =
15)   =
16)  ÷ 4 = 
17) 7003 ÷ 1000 =
18) 30% of 912 = 
19) 4 ¼ - 
20) 5   - 2 
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Rosie is counting backwards in fifths.
She starts at 3 g and counts back nine fifths.

What number does Rosie end on?

Show this on a number line.
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Plot the sequences on a number line.
32,442 552 6
2 2 2

31, 33, 35, 32,41,43
8’78 "8’ 78’ '8 8

Which sequence is the odd one out? Explain why.

Can you think of a reason why each of the sequences
could be the odd one out?
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